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Division is the inverse of multiplication. | ‘ - — +
S0, 10 + 5 = ?is the same as ? X 5 = 10. fq8 2 & 4+ i% L C’%@

The product means, “how many sets of 5 produce 10?” ‘ 343 Q. - { e m——

+ You can “walk” 2 number line to model the division of two integers. ;g 2 Sz 8 - R - : Egﬂ
If the step size is positive, walk forward. If the step size is negative, walk backward. _ . L\. ' ’ - ‘ '
The number of steps is the quotient and the direction you are facing at the end ‘ '

determines its sign. ' | ‘ st
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Divide: (+8) + (+4) , 9 2 . 6 - &
Start at 0. Take steps of size 4 forward to end up at +8. _ _ : L 8 L 3
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You took 2 steps and are facing the positive end of the line. So, (+8) + (+4) = +2 . < ' o
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* » Negative + Negative: . i - - : é | j 5, Z ' 8‘}

Divide: (-8) + (—4) e
Start at 0. Take steps of size 4 backward to end up at -8.
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You took 2 steps and are facing the positive end of the line. So, (-8) + (—4) = +2. o
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7 Divide: (-8) + (+4) ' : — — _
Start at 0. Take steps of size 4 forward to end up at 8. o 3) A,(D W\Qc\/(f.\ —
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You took 2 steps and are facing the negative end of the line. So, (-8) + (+4) = -2. ‘ dQQ(D\@ Ciﬁﬁ&ﬁ gﬁﬁ%
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\ Start at 0. Take steps of size 4 backward to end up at +8. l)\/ ‘ . q . -—5
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E"A\ You took 2 steps. You are facing the negatwe end of the line. So, (-8) + (+4) /
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